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=L = 2x500m | 1000m | 1500m = 5000m | 10000m TPR 2000m R &%t | *&&IE| * RIEE
1 | EEXZE 0 10 16 14 19 1 3 63
2 HBHAEAKE 19 8 4 0 0 0 7 38
3 IUBFRKE 1 0 0 7 8 3 5 24
4 BIEAXZE 0 7 7 2 0 7 0 23
5 [BXRAKEXZE 0 0 6 8 0 5 1 20
6 BAKE 5 0 0 5 8 0 0 18
7 dtEX=E 7 6 0 0 0 0 0 13 2L
8 EBKE 4 5 3 0 1 0 0 13 ¥iva
RE—F&M BF2#E
B4z ¥ K 4 2x500m 1500m | 3000m | 5000m = TPR 2000m R| &5t | *&3IE6 * RIER
1 |REKRFE 1 9 12 14 7 0 53
2 KEX{EXZE 11 12 11 5 7 52
3 EMXE 15 13 6 5 3 0 42
4 BIREERIURE 1 3 3 1 5 16
5 LtiBEEHRBFARFE 0 2 3 0 0 0 5
6 TERAKFE 1 0 0 0 0 0 1
7 M KRE 0 0 0 0 0 0 0 9431 114z
8 |/\FEEXZF 0 0 0 0 0 0 0 9fiz EL
9 |ELTfEXF 0 0 0 0 0 0 0 104:L
10 EBEZIKRFE 0 0 0 0 0 0 0 1143z
AE—FEIM XFRE
¥R 4 2x500m 1000m | 1500m | 3000m = TPR 2000m R| &&t | *&E=IEG * RIEH
1 BRFEXRZE 15 9 16 16 7 7 70
2 SIBEERILRE 13 18 Al 6 5 3 56
3 ILFFRKZE 5 1 7 14 1 5 33
4 {EMKZE 2 6 2 0 3 1 14
5 | KEXEXF 1 2 0 0 0 0 3
6 EERZAZE 0 0 0 0 0 0 0 14431 15431
1 #HRIIKE 0 0 0 0 0 0 0 1461 ;L
8 \FZERKXZE 0 0 0 0 0 0 0 1541
9 HBXEKRZF 0 0 0 0 0 0 0 1643z




